goooboooobgon
11950 200100 1-7

[ Z—H OB TR EB IOV T

8 E =HMHB Kazuo MUROD

§ 1. A—HH¥EXE

ﬂ)W%¢7571$ﬁﬁﬁﬁﬁ457%%L§9LEKEII7A@E%Z ﬁT%W»
DOHECER TR XEZRER. 1961 FEICZ DO 24AHE M Bruins &M Ruttenic & > Tlextes
mathématiques de Susex U TRHENT,

Q) BEREIHENED= 7ﬁﬁ®*ﬁ§Eﬁ%wﬁﬁwmbﬁw%w&%iBhTh&‘T
XTI RBETEINTNS,

(3) faE &ﬁﬁmWﬁPﬂ%®%®#£D‘htDwYﬁ#®é¢ﬁ®ﬁ%k%b®TE
ERXETHS.

M)ﬁ%ﬁQMmmkhnw®ﬁ$ﬁﬁkﬁ#%ﬁmkrﬁﬁﬁﬁﬁw;&ﬁﬁ%@
BEDHD,

§ 2. A—HEEXENo. 12 GENARAFER)

X, ¥ 1_ ..

(y+xﬂx+y)—1,30,16,40
—y)2r X3 ¥ 9.

2xy+ (x-v) +y+X 2:31, 40

IR L TX=x21y?, Y=(xty) ?/xy L BEHA % L. Bk Ex=0;30 y=0;202F T35 . 5L
< ¥&.K Muroi, Reexamination of the Susa Mathematical Text No.12:A System of
Quartic Equations, SCIAMVS, vol. 2, 200143 A FIfTF €. R,

§ 3. A —HEELENo. 26

RIRTE BB DO A —FHELEZLRB S WA THRRIIES T W, A0 TR R
BTZENTOHED D RAEZRMICEDN ST KL LI RL NAORR G E 25,

CT 4, Plate 22, b, transliteration and translation

Obverse

1. é-gar. dal-ba-na The party wall,

2. §a Na-ka-rum dumu Ib-ni-°Mar-tu that of Nakarum the son of
Ibni-“Amurrum,

3. 0 Ru-ut-tum munus “Utu and Ruttum ‘a woman of Samaf ”,

4. dumu-munus Sig-“If-par-ra the daughter of Ipqu-I$para.



5. ™Ru-ut-tum munus ‘Utu Ruttum “a woman of Sama$ ", builds (it).
i-ip-pé-ef

6. gu-Su-ri-Su-nu mi-it-ha-ri-i§ They equally lean their timbers

7. G-um-ma-du : ' (against the wall).

8. a-hu-um a-pa a-hi-im The one must not sue the other

9. d-ul i-ra-ga-am (concerning the wall).

Reverse

10. mu “Utu “Amar-Utu By the names of Sama$, Marduk,

11. i Ha-am-mu-ra-bi lugal-e Hammurabi, the king, they have sworn.

12. in-pad-dé-e$

13. igi A-bu-um-wa-qar The witness, Abum-waqar, a-mayor.
ra-bi-a-pu-um -
14.. igi- Pu-hu-um igi Kur-ku-du-um The witness, Piupum. The witness,

Kurkudum.
15. igi ‘Ta-ri-bu-um igi Ip-qii-$a The witness, Taribum The witness, Ipqu$a.
16. igi Mu-na-nu-um dub-sar The witness, Munanim, a scribe.
17. mu erin E{-nun-na*! In the year when the soldiers of
Edge ESnunna have been smitten with the
18. ¢'*tukul ba-sig (king’ s) weapon.

Susa Mathematical Text No. 26 -
Transliteration
Obverse 1|
$d oo oo e ] e [oe]
Z,10 sag a[n-nal ugu 30 s[ag ki-ta -]
igi 3,45 u$(!)) dus-ma 16 [--- --- 1
26,40 a-rd 2 53,20 a-p[a - - ]
ta-ta-a-ar 2, 10 sag an-nl[a ki-ki-ma 4, 41, 40]
4 i-na 4,41, 40 kud-ma [41, 40]

LA A

7. Summa (BAD) 50 dal murub, 34°'¢ (or 30 nindan) sag an®'°-na®‘c 40 (or HD) [
...]

8. 50 dal murubs ugu 30 sag ki—<ta> mi-pam [dirig 20 dirig]
9. 1,20 a-ra 20 26,40 a-ra 2 5I[3, 20]



10.
11.

ta-ta-a-ar 50 dal murub, kia-[kd-ma 41, 40]
ib-sis-bi ka-bi-is [1,4(?)]

12.
13.

sag-ki-gus (1) 35 salg an—<na>] 5 [slag k[i-ta]
2 Sel-me§ mi-it-pa-ri-i$ I[i-zu-zu]

14.
15.

35 a-ra 35 20,25 [5 a-rda 5 25 a-nal
[20, 25 §]f(!)—ib(!)—ma(!) [20, 50 bar] 10,25 [ib-sis-bi 25]

Obverse [

1.

//
3.
4

[co vee eoe eee oo een o] 3[6(2) -]

. 1,4[0 sag an-na --- 20 sag] ki-ta 1 u [-- - 1

i-na I[i-bi ul$ 1 kuf 6 $u-si &(!)-[gars dal-<bad-na e-pu-uf]

. ib-tag., a-na 2 {e¥-mel [i-di-im]

e S

1,40 sag an-na ugu 20 sag ki-ta ml{i-nam dirig 1,20 dirig]
1, [20] a-na 6 é-gars(!) dal-<bad>-na il 8 he-[pé-ma 4]
[tal-ta-a-ar 1,40 sag an-na ki-[ki-ma 2, 46, 40]

[2]0 sag ki-ta ki-ki-ma 6, [40 a-pa 2,46,40 si-ib-ma]
2,53, 20 bar 2,53,20-da i[b-sie-bi ka-bi-is 1, 12]

10.
11.
12.
13.
14.
15.
16.
17.

1,12 a-na é(!)-gars (!) dal-<bad>-na a-na sag [{u-ku-un]
ta-ta-a-ar 1,40 sag an—<na> ugu [20 sag ki-ta]
1,20 dirig 1,20 a-ra 8 bar 8 [4 4]
i-na 1,12 kud-ma 1,8 1,8 & [20 ul-gar-ma 1, 28]
bar-zu 1,12 a-na 6 é-gars(!) dal-<bad>-[na il 7, 12]
7,12 ki $a é(!)-gars(!) dal-<bad-na [:- - ]
52,48 bar-zu 26, 2[4--+ -+ -- 1
1,40 @ 1,16 [ul-gar-ma 2,56 - - - ]
Translation

Obverse 1

1.

2
3
4.
o

that of --- [ ...... ] [.]

. 2,10, the ulpper] width, over 30, the [lower width, ---].
. Make the reciprocal of 3,45, the length, and (the result is) 0:0,16 [ - 1.

2 times 26,40 is 53,20. To [--- --- 1.

. You start again (literally: you return). [Squarel 2,10, the uppelr] width,

[and (the result is) 4,41, 40].
Subtract 4,0,0 from 4, 41,40, and [(the result is) 41,40 ---].



7. If the middle dividing line is 50, (and) the upper®!c width is 34%'c, - [--

8. How much 50, the middle dividing line, [exceeds] 30, the lower width ?
[It exceeds (30) by 20].

9. 20 times 1,20 is 26,40. 2 times (26,40) is 5[3,20].

10. You start again (literally: you return). Squlare]l 50, the middle dividing
line, [and (the result is) 41, 40].

11. Its square root is paced off. [It is I1,4(D].

12. A trapezoid. 35 is the [upper] wid[th]. 5 is the lo[wer wildth.
13. Two brothers ought to [divide (it)] equally.

14. 35 times 35 is 20,25. [5 times 5 is 25].
15. Add [(25) to 20,25], and [(the result is) 20,50. Halve (it)]. 10, 25.
[Its square root is 25].

Obverse I.

1_ [... ces ses ses ses swe ...] 0;3[6(?) ...]

2. 1;4[0 is the upper width. --- 0;20 is] the lower [widthl. 1 is the length.
[ ...... ]

3. In the mi[ddle of the lenlgth [I built a party] wallll, (whose thickness
is) 1 ki§ 6 $u-si (= 0;6 nindan).
4. [Give] the remainder (of the trapezoid) to two brothers (equally).

5. How [much] 1;40, the upper width, [exceeds] 0;20, the lower width ? [It
exceeds (0;20) by 1;20]. .
6. Multiply 1;[20] by 0;6 (that of) the party wall, (and the result is) 0;:8.
Brleak (it in two), and (the result is) 0;4].
7. [You] start again (literally: you return). Squlare] 1;40, the upper width, -
- [and (the result is) 2;46, 40].
8. Square 0;20, the lower width, and (the result is 0;6, [40. Add (it) to
2:46, 40 and (the result is)] | | .
9. 2;53,20. With half of 2;53,20, [its] squlare root is paced off. It is
1;12].

10. [Put downl 1;12 for the party wall, for the width (of it).



11,12. You start again (literally: vou return). 1;40, the upper width,

13.

14.

15.

16.
17.

exceeds [0:20, the lower width] by 1;20. 1;20 times 0;6 is 0;8. Half

~of 0:8 [is 0;4].

Subtract [0;4] from 1:12, ‘and (the result is) 1;8. -[Add] 1;8 and [0;20
together and (the result is) 1;28]. : o

A half. [Multiply] 1;12 by 0;6, the party walll, (and the result is)
0;7, 12]. ‘

0;7,12 is the area of the party wall. [- -]

0;52,48.  Half (of it) is-0;26,2[4-- - el
[Add] 1;40 and 1:16 [together, and (the result is) 2;56. - --- -- 1.
B

I . KB, 1~61T.

BEERNAIRAH. KROFBEVHEBTELLTITHS.
3,45 = 0;0,16 26,40-2 = 53,20
2,10% = 4,41,40 4,41,40 - 4,0,0 = 41, 40.

B . RE—MW. 11117,

TF+FAMOFEIIXRDED.

50 -3 =20 <50 + 30 = 1,20>

1,20-20 = 26,40 26,40-2 = 53,20

502 = 41, 40.

ZZIRASHhOFEIZAND D, %E?&\‘f%b&j&bf_merlié”\@ckvk?ﬁﬁ
x5, BIHNBE.

(d-Db)(d+Db) =d>-b%=12640
dz = 41, 40
a? = 2d®> - b% = 1,8,20
=/1,8,20 = 1,4.

B3R : ﬁ% . 12~1517.

n%@ﬁfﬁ’&z%ﬁ?éﬁﬁuﬁd)ﬁé 2RRICUENSTI(@H2 + 52)/2 = 25&
RKDTWD., EIKNSR.
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BROLTMICHRERAELZ DD Ko kL MEZIANDORBMILEST HHETHS. 5
ETIREBINTOEI LY TORBETH D . BHEEROBRLHENTEXSE
BERHETH 5.

S6fTE T . HAIRE DX/22RDEIITKD TS, EINSHE.

x/0;6 = (1;40 - 0;20)/1

x = 1;20-0;6 = 0;8 . x/2 = 0;4.
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bhs.

d = {(1;40% + 0;20%)/2 = 1;12. :
HM2THIRSS6THOEDEL TEROI X, I4~ITH THABRD EMENEE
ENTVBN, ZOREBTFAMNIEBEANADD. LHLL. . KENS

S, = (1/2)-1;28-0;36 = 0;26, 24

S: = (1/2)+2;56-0;18 = 0;26, 24
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